}[1/GeV]

d‘—GIIU

t,2
T

1
dsd

Ratio to ATLAS

cdot I\I‘ets

|
o
R

|
w

d2

107

0.5

13000 GeV pp tt
_I_ T I T I T I T I T | T I I T _I_ ﬂ
- — <
= p'% (ATLAS ttbar) mE
L T 42
- —0
_ m ATLAS 15
| --©O-- Herwig++ 2.5.0 default N
--3-- Herwig 7.2.1 default 2
- —
™
©
=
— -
- = .
- PSRN 5
- @r’ — '6'
- 1M
@
(9]
L w©
o
(9]
—
N >
- ™\ B
- AN 1.8
- —1
- “a - O
- RS e
\% Q)
- —C
1 [%2]
- mis
o
| | O
| e . . | . . || &
:l T T T T | T T |:
— -2
- - 1
- ,'q,}“_"""'"‘_‘_‘::::—-"-— ------------- g —
N P | s
- F —0.5
! L L L . !
0 500 1000



	Contents
	Page 1


